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Exam A: note |totalfmax|1FNcle|1FNcv1|1FNdecompSPI|1FNdecompositionPasBonne 1I;l|\:lﬂf- 1FNformeNormaleDecomp|1FNpropsbernstein|2EstimationSelectionOR|2estimationJoinFK]2expRelEquivalente|2meilleurPlan|2nbBlocs|3RangClesNoeudArbreB|3arbreBSansCles|3indexArguments|3indexB|3indexDense|3rechercheBinaireIndexeDense d:azclalt;;:k inter4ri|r:rli-};tion 4recoveryJournalApres|4recoveryTransCommitted|4transactionConflitSerialisable|4transactionEquivalentj4transactionProbleme|Anonymat
2,00null
20,00]max 4 17 1 11 8 5 5 1 1 8 1 1 1 7 5 10 1 1 1 1 5 5 1 5 4

Copie Anonymat(10,17mean 64% | 47% 61% 30% 40% 34% 87% -22% 1% 45% 22% 0% 50% 67% 46% 56% 0% 1% 50% 44% 30% 39% 61% 34% 53%
1 7633 8,50]39,50 110 2,5 11 1 5 5 5 3,5 -0,5 2 -0,5 1 4 -0,5 1 7633
2 7598 9,00}41,5) 110 1 8 5 -2,5 0,5 5 1 5 -0,5 1 1 2,5 3,5 4 2 1 4 7598
3 7507 |13,50169,5|110] 2,5 12,5 1 8 6,5 2 5 -0,5 -0,5 5 1 -0,5 -0,5 4 2 10 -0,5 -0,5 1 1 2 2 1 2 4 7507
4 7505 ]11,00] 55 [110] 4 6,5 1 5 5 -0,5 -0,5 3,5 1 -0,5 -0,5 7 3,5 7 1 -0,5 1 1 0,5 5 1 2 25 7505
5 C832 | 9,75] 47 |110] 2,5 0,5 1 8 5 -0,5 1 7 0,5 8,5 1 1 1 1 5 0,5 4 C832
6 7619 ]10,25]49,5|110] 2,5 14 3,5 0,5 5 5 -0,5 1 4 3,5 7 -0,5 3,5 1 0,5 -0,5 7619
7 7622 |11,50] 58 [110] 4 8 1 3,5 6,5 0,5 5 -0,5 1 5 1 1 5,5 3,5 4 1 1 1 3,5 2,5 7622
8 7508 7,50133,5] 110 1 3,5 2 3,5 -0,5 1 3,5 -0,5 1 -0,5 4 0,5 4 -0,5 -0,5 1 3,5 2 -0,5 3,5 2,5 7508
9 7520 |10,50) 51 |110] 4 1 -0,5 5 2 2 -0,5 3,5 1 -0,5 1 4 3,5 5,5 -0,5 -0,5 1 2 3,5 1 3,5 7520
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